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Listening Section: This section consists of two parts. You will hear directions at the beginning of each

part. You will not hear any example questions during this section of the test.

Direction: In part one, you will hear short conversations between two speakers. At the end of each
conversation, a question will be asked about what was said. The question will be read only once.
After you have heard the conversation and the related question, read the four possible answers on
your test paper and decide which one is the best answer to the question you have just heard. Mark

the answer you have chosen on your answer sheet. (M = Man W = Woman Q = Question)

No.1 M : How's your new apartment?
W : It's greatl It's near here, so instead of taking an hour to get to work, it only takes 20
minutes.
M : That's nice. It takes me an hour and a half to get here. I really should move closer to the

office.
Question : How long does it take the woman to commute to work now?
20 minutes

30 minutes

60 minutes

CEONCNC,

90 minutes
No. 2 : IT'd like to open a savings account please.
: Certainly. Which type of savings account do you want?

: Hmm, do you have an internet savings account?

=2 = £

: Yes, we do. That's our e-Savings account. The interest rate is 4.1%. It's paid every month.
You have to save at least $75 every month. This type of account is instant access, too.

: Maybe I'll have that one, then.

=

Question : How often is interest paid for this type of savings account?

Daily
Weekly
Monthly
Annually

CEONCNC,

_23_



No.3 W:

M:

W

Have you seen this memo? It looks like we're being asked to cut the budgets for all
departments by 10 percent next year.

I think it's a mistake to cut the budget for research and development. Our future depends
on developing new products.

I agree, but that means we'll have to make bigger cuts in other departments. It might be

necessary to cut some staff, but I hope it doesn’'t come to that.

Question : What is one reason the woman is unhappy about the budget cuts?

CEONCNC,

No. 4

= =

She thinks her salary will be lowered.
She thinks the cuts are not big enough.
She thinks some employees might lose their jobs.

She thinks the advertising budget should not be cut.

: Hello, I'd like to send this package to Switzerland.
: Can you put it on the scales, please? OK, so that's about 1.3. That'll be 5.28 pounds by

surface mail. It should be there in under two weeks.

. Is a faster way of shipping packages available? This is for a big work project, and the

deadline is in one week.

: Airmail will take three days. I'll just check the price... Oh, 589 pounds. Not much

difference.

Question : Which shipping method should the man choose?

® @O 6

No. 5

=2 = =2

Surface mail, because it is less expensive than airmail.
Surface mail, because it will be faster than airmail.
Airmalil, because it is less expensive than surface mail.

Airmail, because it will be faster than surface mail.

: Did you know that Walter will be leaving the company at the end of next month?
: Yes, who do you think will be moved up as the new systems manager?
. I think it should be Sarah. She's been doing a great job as Walter’s assistant.

: Yeah, but she’s only been here a year. I think John would be a better choice. He's been

with us for over five years and he's a great programmer.

Question : Who is currently the systems manager at this company?

CEONCNC,

One of the speakers
Sarah

John

Walter

_24_



Direction: In this part of the test, you will hear short excerpts from speakers or lectures. After each
excerpt, you will be asked two questions. The excerpt will be read only once. They are not written
on your paper, so please listen carefully to understand what the speaker is saying.

After listening to the question, read the four possible answers on your test paper and decide which
one is the best answer to the question you have just heard. Mark the answer you have chosen on

your answer sheet.

Excerpt 1

Nowadays more than 90 percent of all payments is cashless in Korea, and nearly 70 percent in the
UK. Cashless payments are getting increasingly common worldwide. The first cause is the spread of
credit cards. In Europe, even very small payments can be made with credit card. Cashless payments
are also encouraged by governments. It is a very efficient way to collect data about consumer
behavior. This leads to new business opportunities. Another benefit of cashless payments is that it
can actually reduce crime. As cash is being used less, robberies become less frequent. In the future,
our society may become even less dependent on cash, and we will rarely get to see paper money.
There are many benefits of cashless payments and both consumers and businesses will certainly

appreciate the convenience of this new style of transactions.
Questions

No. 6. What is this lecture mainly about?

The procedure of cashless payments

The efficient way to spread cashless payments

The benefits of paper money

CEONCNG,

The causes and effects of cashless payments
No. 7. What is NOT a benefit of cashless payments?
They can spread the use of credit cards.

They can reduce crime, such as robberies.

They can contribute to new business opportunities.

CRCECKC

They are an efficient way of collecting data about consumer behavior.
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Excerpt 2

Information is an important part of our society. People depend on it to guide them through a
complex world.

The invention of movable type in 15th century Europe revolutionized the communication of ideas.
This invention made it possible to print and publish information to masses of people.

This free flow of information eventually led to a free press in many parts of the world. But because
information is so powerful, many world leaders have tried to stop it.

French leader Napoleon Bonaparte once said he feared four newspapers more than 1,000 bayonets.

The Chinese emperor who oversaw the building of the Great Wall famously used his power to
stop published information. Qin Shi Huang ordered the burning of thousands of books on subjects he
wanted to keep from the people. He even had hundreds of scholars executed for refusing to give up

their book collections

No. 8. How did the Chinese emperor stop published information?

By making four newspapers go out of business

By leading to a free press

By getting rid of a large number of books

CRCNCKGC

By burning laboratories of scholars
No. 9. What is NOT true about this passage?
All countries have had full access to printed information throughout their histories.

People fear the power of information.

People depend on information for guidance in society.

CEONCNC,

Printing technology was first invented in Europe.
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